®) —— e 69'829——12¥6'87 - O 96’9y
! . 681 | ) ]
_ e 8929 6167 92 1v8'529| 6v'¢
: 8
| = 9 coz | ¢29 | ¢ 3
_ | S - | 29T [§9°029| ST
_ [ | L5819 LTS0S m 19¢ re8l9) ¢¢ o
! | 6eC 09z |56'G19| ST 2
== 81'G19 66705 o . s
- _ N = | 26721928 legz1g B ST Ly
Z—— , Lo 2L logy g~ BSC [SEHI9) S¢
_ L& LST 192109 L¥'v o
_ I eLL09 G68'1S Q
_ | 9 | 85z [szvos] 57 ¥
| - [ ] e | S [sse o] T -
| o 88009 ov2zs| — | vsz lesees| Sz
_ [ ] 8 oGz leries| e
- | = © " ZSZ |88¥6S| ST
=—t — g¥65 yeyesl = -
_ ~t—--[FEE 668G 95656 0ST [£9'88S| S'¢
| ——— U TN DO B -5 e
_ | 8VC [£6'€8S| G'T <
| o . - ¥
| [ 1] & 7T [z9'18g| e
_ L . | 2 [ovz hzes| gz
| — 6L'8LS 0ul'ss| 8 [eyz lesocl 22 o
| L = vvz hovis| oz
_ o ovz feeus| e
| L) — — — [ 76'69S 00g'sG v .B.mom m.N
_ ] N vz Je5195] 22
| . VO N R S 173 2 X
_ T — | ecz [eseos| 2z
_ - 8cz [vo9s| g2
! | S /52 [e1'8ss| z¢
| 9z hrsss| 2
_ m—— 6L¥SS 688'GS SeT [evess| ¢t
_ ez [Loisg| sz g
_ | ] g ce Jevsvs| ¢t I
| e 70z heovs| g2
_ . o . . ez feovvs ee | = |
_ 8 ] |D7|_ — 8Y'EYS 858°SS 0cZ Woivs| g7 [ o | 6L
_ I. N 62T [2'68S| TT
_ D & 8zz [£6'95s| ST
_ C—11 ope copos| @ [LECfEoves| Tt
| ‘ S | 9zz lzzes| s
_ ] - GZT [26'62S| TT
| o vzz Ws1zs| s
_ ] - o/gcs czz lerszs| e
| : zzz lezes| s 88'9%
_ | 3 12z Jesozs| ¢t m
| : = 0zz [18lS| S 3
_ ] ] 61z leesis| z¢
_ 661G GG6'GS 81z Hvels|l g
_ ———71 41T leruig ze
| S 91z hssos| sz
_ [ 1] - 51z levoos| z¢
- y1Z fovos| sz
- ) 060 =964 S5 - . .
_ _/|ii! g - iz lvalos| sez
o~ ziz feoeey| sz
_ e L9161 791656 L1z [oosy| ¢
| —— _ 60z H6'l6v| 22 N
_ > 807 |coesy| ST 5
<
_ I [0z kzsy] 22
_ B 7L98y Y6SS| 13 90z lzsverl o2
_ [ | ] o S0z 146787 TT
_ et y0zZ |ezosy| ST
| ] o coz ey Tt
_ = Y0'9/% - 20z [essuy| s
| N 5 L0z juew| 22
- _ 0 - 00z [Z80LY| ST :
SL'8Y
Ir—+— — L9°0LY 986G
_ ] - LT 661 eraor[ 22
_ v 861 feioov| oz
_ m—— 86'79¥ 268'GS LBL LS| T
_ T 961 [Tv19y| ST B
_ || 3 S61 [L0'6SK| ¢z 0
_ - v61 2195k ST
| — N I PO B 1w 2
_ Z61 [20Tsh| ST
_ | ] s 161 [o6ry| 22
_ o 06} feeLvy| gt
_ — ; 68l [L6¥¥Y| 2
_ i S — 881 [29Zrv| g7
_ 1] 81 zovs| ¢z
| w 98l [geLcev| g2
| I. @ o S8l {GGEr| 27 )
| | oo eoes| o [¥8) fezeey| o 9
_ [ 1] ™ [ ¢8l ksosy| z2
_ 2 z81 lzoezy| g
_ [ =] 18l HL'9zy| 2T
_ 08l |z8'cTy| ST
| ] Ly'TTH 619°GS 6LL Wvizy| ¢¢
| 8/l [z1ely| oz
_ [ 1] B LLL L9 TT 96'9y
_ c 9LL Ryvlv| §T
| I N 85 ZLy = 261°SS GLL HOCLY| CC %
| 00— ——FE=———— |nu — 98'60% 85/°GS VLl [eL60y) S¢ -2 | Y
_ [ 1] a oLl HELOY| TT ~
_ M ZLL [Z0'SOY| ST
_ . & 708 r0s6s 121 lozov] 22
. _ 3 oLL fzeroov| g2
= < - 691 [6L65| 2T
O—- = L6°LBE 62965 (D
— 891 |zo'see| Sz
_ §
_ ] o Zo1 hzses| ze
~
| — 2 St Jus uee] 22
| O)———l== . 8/°98¢ 17 05°GS ¥91l €C'98¢| S'¢
| — 9788 9/4°SS g9l |esss| ¢T
_ _— m Z91 lesise| gz
_ S 60°08¢ 6L1°SS lo1 JLies| ee 2
_ 3 09l [28'9L8| §7
n . .
N 6st lvve| 22
_ 9yLE L6V°GS . :
_ N 85l lzizs| sz
| —— NERN T e
_ —— | £5°69¢ ¥9v'SS ool levsocl o2
] © sl JLosee| Tz
! . . £6°LY
_ ——— £0°09¢|——96¢°GS YGl RL29E| S'¢C
_ 1 . = . eS| [e09g| TT
| e 98'65¢ GL£°SS [zt feoese| s
_ [ 3 ~ | S} p9sse| ze
| ~ © [ost fzeese| oz
_ s 22 268 ]80T 6v1 [60ss| 2T
_ e £5Be 991°G6 gyl [zosve| g¢
_ = _ vl zove] e
| = S orL [z6'ere| 6T
_ 2Lbe 140'SS MH Mwmm MM
| 2
| —0 N I W 7w 7
| zvl Rsvee| o
_ I. © lvlL [12ee| 22
_ o ovl [z8'628| ST
_ . l. Yrs e 6CL [L¥'LTE| TT
| o b s 8el [erses| o7
_ — T l9ves 56875 Lot e Tt
_ 3 ocl fzvoze| oz
_ ] o Gel 1L0'8lE| TT
T, LGGLE 6vs | o [ vl frsie] g
I. 85y e —E-l16064S oel le6Zig| 96C . 3
_ vy | ¥
_ - ZSL l9zols| ST
©
_ [ T o 1oL heLog| ¢e
_ oL |ag'sos| sz
_ | mwwmm 8T MWM”M 62l hzeos| 22
_ gzl legoog| ¢z
_ ] m LT\ HGeeT| 7T
| I I 9z! f9L'96z| S
_ ] ] szl heesz| 2
| vzl lov'iez| sz
_ I ﬁ cTL hi'esz| 2z
| L zzlL loresz| sz
_ 1 121 Hyvee| 22
N N~ . -
| . ] " 21207l lossus 021 joozse| G |
| N e — — N 20082 (2546 6LL HieLz| 2z - - 6Lov
_ o gLl focsze| gz | T
©
_ == 3 L0t hoscz| 22
| R |91t leozse| o7
_ ] 91T gavys| ® gLl heoz| 22
_ - vLL |29z ST
_ ] = oLl hosaz|
_ ZLL f9zs9z| g .
| | 61292 Yor v L1t heosz| 27 3
_ oLl los'ese| &z ¥
< .
_ L — 0 60l Hezosz| zT 1A%
| = 801 l9g'ese| &z
_ | ] co'Lcz P L0l HSisz| 2T -
_ 901 lavere| ST o
_ [ ] ~ sol feovz| zT ~
_ 2 vOl lovvbe| o
| — el T
| zoL losese| g N
| I- o ol hse| ce 3
_ S 00l loosee| <z
_ [ 66 hizez| ¢z
- - 86 198057 ST
Ld——— 92°0£¢C GOL¥SH Ll i .
| | /6 hoszz| e
_ 2 96 |ev'szz| g7 o
| — | | I :
| ——— 872z 12T S 6 losozzl o2
_ | ] . c6 hosiz| ¢z
| = z6 lozalz| gt
| — i L G
| o 20112 P . 06 l9g'L1z| S 2
_ T © [ e8 Hzeoz| 22
_ — 2 " | 88 legovz| s
| 3 ¥6°GY
| - _—— /8 hsvoz| e 5
| N_ _  —— 91°€02 SPEYS 98 |arzoz| gz 3
A cLT ) -
_ I. cv'00Z AN LS G8 866l ¢¢C
| y8 lovi6l| oz
| —— 3 fo ool 27 .
| - z8 lorzsl| gz 3
T I -~ [r8 hvosi| 22
()] _ ‘ Y061 9 ¥S -
| - 08 HS/8l| 3
_ N S 6L nivel| 2T 3
_ - g/ loczal| g ?
“ I- 6081 26V'4S LL 008l CC
_ - 9 9/ W9LLI| §T
_ Mmoo 0 S. pesii| 2T
= | 91°G/1 864G
_ A Q L 96TLL| GT
_ ] 811 LI ———205'%G cL Hoost| ¢z R
_ TL 19T89l| ST 3
_ —11 . L. hesol| zz N
! = o/ hseal| gz
| E—— 55 Wz ioi zz
| B 8¢'091 oY’ $G g9 tegast| ¢z
_ [ ] L9 peSosi| zz .
| @ 99 feLwsl| gz 8y’
| e = oo il 22
_ R L8061 eevs| ™~ | v9 feveni| o
| ] c9 Wiwl| ze
! W Z9 feLvvl| g m
| B Tl 1GGHS 09 ls0orl| ¢z
| ] - 6s Wi e
_ ha 8G teeeel| 6T
_ ——] L1781 2SS LS [YOEEY C¢
_ 9s levost| ¢z
| [ 1 N S szl 2T
_ o ¥s |eeszl| gz
_ 7! 66L°%5 £S ppoecl e
_ zs lezizl| gz -
_ © I e8| ze 3
_ o 05 |659LL| ST
_ L Y . .
LTyl
A 26675 ov e
To) A 8% [LSLH bE |
— N — ot ———{ 1% /¥ }680L| 2z IS LSy
o 0 9y ksool| sz | ~
2 S
R - 1£9'4S v _pevol] ¢t <
vy [eglol| sz =
S oy Lges | ¢z cocy | %
S zv size| sz o
v | 8¥6 | ¢e |
88°¢6 1€9°¢S o FS¥'z6| S¢ .
6¢ F1'06 | 2T <
2 e leseg| sz %
O .
- L8 Fves | 22 T
9¢ lsoss| gz
90°¢8 168728 508 i
ge Fros| zz B
¥ v legss| g 9
o et o |zt =
< | cor :
6L sqo'lg| 2 | ¢E [S9EL) S¢ &
8 [1g }ew| ze g
o~ - os lse9| gz =
0 0
= MOz L9 [ 22 <
gz lszve| gz o
veo ve80s Lz 619 | 22 e
9z lsses| gz 3
o sz tzus | ez 3
vz Fegvs| ge 2
8'€S 60¢°0S ¢Z tG6Ts | Tt Sy | 3
zz lsios| gz 0
m iz tew | ce &
- oz lsvsv| gz 91|
6L |8ocy | gz &
L0°Sy 960°08 . .
gl fecov| vz 5
5 Ll p¥ee | T¢ M
o 9l Go9g| ST 90y | o
e S gL Fues | ze 3
¥l [S60S| 12 5,
S ¢l teee | z2 =
2 Tl pegsz| S o
) . LL pGee| 22 M
¥0'5T 682°08 or Loz oz -
— . - ~
0 _ e fem e =
r o0
egoL ——Jesiog| 5 B [STOL| ST B
% w2 bue | e 5
90°cL 260505 9 o] sz 9
S [ v6 | TtC >
= ) -
M v tsoz| gz *
e Fuv [ z2 5
¢eLe = ¢62°09 Z tegez | st 5
5 o L F o [zz . <
0 6105 < 26'8¢
w = =
E o W Mm Oomo ¥ = ~ .w [
o X O o % Y4 B 4 S | = $ u z
© = a o @S %X < < - b o S o
5| | < 35 w7 .S £24g B O I I = T Sl I~ =
m N = O Z\ zZe n¥Z AV.n M z o M 0 = =z
— o [1'4 L <~ ﬂm Emmﬂ = m L Z - <€ L
o [ a a% =8 LEnf 7 < E Z 5 o =
o o W, |DWA 5 N o = o 7] = <
o— — — z =z dpug o =z o g . 0
o, |29 4 4 8k 25 zzus 6|l = | 2|l E|luw| || 2|25
T |lo|o [ [ SW Mm meﬂ . o h o = = o e o o W
c .. Z Z A< 2 Sz.EE | ||| 2| &| 3| 3| 3| =
c|!|< z =z 3 5% Eo243 £ =
al- | = a o p° 53 wazEf - =
<|a = B RO=o- o =
S| =9 S0 Moo HMYNZ . =z =
a|lo | B o Hoz BEEUS mv i <
= | o 2zQ Ix355a o o
L [— | O _ ] Lz Ho2P= P .
o< |Q = z3s 4zz58 P o5 <
a|E|a _ $ g o = o
°
®
<
[»))
(0]
o))
=
> &
1 ©
Lul 5
V A o
= _ 3
& 9 S O :
Z O —
< — —1
: ~ - (a'd
2 x o0 < & OF <
<
v m N = ) > O
o < < < k&= L Z | —_—
i 5 oz L < = Z
S ) : — o
9 = W =5 O O 0 — S |z
= w ) O Lul o <l _ Q < o ©]
2 o 2 0ok o = 2Z< Ll 55|z
®) - o— — — - o) I
>z 3 5 2 < a E o Z o 5 | 2
(a8 a4 -l C D +
= 2 o > o - L] g |2
T 9 < z {u < = = O Ll O & g
(4D} = —
® - = © O o 4 O Ll ' r— w
ke a < AN Z N — N
3 < 0 < < QN L 2] Z < - <
2 O n U wn S L O 5 Z
g = W = o - —_— u ] O ==
< g 2= @ v o O Yz L z 02
v 3 = 2 g o L - % a P2 g | 2
-~ I D O — - T A V - A < B o)
3 e . — = o ! O O 2® |z
(] — B L D h E 1 L G R g - U]
5 E - & o < ~ o o~ 0 ZL "o |8
< Z 0O @ O (Vp)] e - 0O < a
Y — @) — 20
<
2’4 c 1 o O
Ll Q o =< = —
= v < T S
© >
= Q A
wn R < I
o O |2
< A
¢
BEL
< |
- O
O
o




